## CITY OF BILOXI AGENDA ITEM FACT SHEET

**FACT SHEET** 5 F Item No.: May 21, 2019 Council Meeting Date: ITEM TITLE: RESOLUTION Mayor Andrew "FoFo" Gilich INTRODUCED BY: CONTACT PERSON: E. Michael Leonard, CAO  $9\omega$ **Christy LeBatard, Director of the Engineering Department SUMMARY EXPLANATION:** Resolution authorizing Change Order No. One (1) with DCD Construction, Inc. for the East Biloxi Public Access & Living Shoreline, Project No. 1009. Resolution\_\_\_\_ Ordinance\_\_\_\_ Public Hearing\_\_\_\_ Routine Agenda\_\_\_\_ **Exhibits for Review** Other (Specify): Exhibit "A" Change Order No. One (1) Council President \_\_\_\_\_ Mayor \_\_\_\_ Submittal Authorization: STAFF RECOMMENDATION: Staff recommends approval Motion By: \_\_\_\_\_ Second By: \_\_\_\_\_ COUNCIL ACTION: Vote: Councilmember <u>Yes No</u> <u>Other</u> Councilmember Yes No Other Tisdale Lawrence **Gines** Glavan Newman Barrett Deming **ACTION TAKEN:** 

CL/kth 052119 DENG

RESOLUTION AUTHORIZING CHANGE ORDER NO. ONE (1) WITH DCD CONSTRUCTION, INC. FOR EAST BILOXI PUBLIC ACCESS & LIVING SHORELINE, PROJECT NO. 1009.

WHEREAS, on August 21, 2018 a Contract was awarded to DCD Construction, Inc. for the East Biloxi Public Access & Living Shoreline, Project No. 1009.

WHEREAS, DCD Construction, Inc. has submitted Change Order No. One (1) for approval;

WHEREAS, said Change Order No. One (1) is requesting to add Bid Alternate "C" for the Shade Structure and Miscellaneous Accessories and Bid Alternate "D" Fixtures and Amenities in the amount of \$152,307.40 for a total revised Contract amount of \$1,991,264.50; and

WHEREAS, Change Order No. One (1) is also requesting to add Forty-Five (45) weather days to the contract with DCD Construction, Inc. for a revised contract end date of September 23, 2019; and

WHEREAS, the quantities of work and costs for this project have been verified by Walter T. Bolton & Associates and Brown, Mitchell & Alexander, Inc. and the City's Engineering Department; and

WHEREAS, it is the recommendation of E. Michael Leonard, CAO and Christy LeBatard, P.E., Engineering Director, to approve Change Order No. One (1) on the contract with DCD Construction, Inc. for Project No. 1009, East Biloxi Public Access Task Living Shoreline.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF BILOXI, MISSISSIPPI, THAT:

<u>SECTION ONE</u>: The findings, conclusions, and statements of fact contained in the foregoing preamble are hereby adopted, ratified, and incorporated herein.

SECTION TWO: The Mayor is hereby authorized to execute Change Order No. One (1), attached hereto as Exhibit "A", on the Contract with DCD Construction, Inc., for East Biloxi Public Access & Living Shoreline, Project No. 1009.

CHANGE ORDER							
			NO: 1				
PROJECT:	EAST BILOXI PUBLIC ACCESS TASK D-1 & E	DATE OF ISSUANCE:	4/29/2019				
OWNER:	CITY OF BILOXI P.O. 429 BILOXI, MS 39530	CITY OF BILOXI PROJE	CT NO. 1009				
CONTRACTOR:	DCD CONSTRUCTION, INC. 6512 ROSE FARM ROAD OCEAN SPRINGS, MS 39564		MITCHELL & ALEXANDER, INC. ARD AVENUE, 2ND FLOOR S 39530				
CONTRACT FO	R ENTIRE PROJECT	ENGINEER'S PROJECT	# 17-3555D-03				
You are directed to make the following changes in the Contract Documents:							
This change order has been prepared to add Alternate C (Shade Structures), Alternate D (Fixtures & Amenities), and drainage improvements to the contract. Additional time has been added for inclement weather and the added scope to address the retaining							

TOTAL CHANGE IN CONTRACT PRICE

wall. Additional time for the Shade Structures may be requested in a future change order.

\$152,307.40

CHANGE IN CONTRACT PRICE	CHANGE IN CONTRACT TIME  Original Contract Time (DAYS)  305				
Original Contract Price \$1,838,957.10					
Previous Change Orders	Net Change from Previous Change Orders (DAYS)				
\$0.00	0				
Contract Price Prior to This Change Order	Contract Time Prior to This Change Order (DAYS)				
\$1,838,957.10	305				
Net Increase/(Decrease) of This Change Order	Net Increase/Decrease of This Change Order (DAYS)				
\$152,307.40	45				
Contract Price with All Approved Change Orders	Contract Time with All Approved Change Orders (DAYS)				
\$1,991,264.50	350				

KECOMM	IENDED:	1
WALTER	T. BOLTO	ASSOCIATES

APPROVED: OWNER

APPROVED: CONTRACTOR

BROWN, MITCHELL & ALEXANDER, INC.

DCD CONSTRUCTION, INC.

BY: 3 m.th



## CHANGE ORDER

PROJECT:

EAST BILOXI PUBLIC ACCESS TASK D-1 & E

DATE OF ISSUANCE:

NO: 1 4/29/2019

OWNER:

**CITY OF BILOXI** 

CITY OF BILOXI PROJECT NO. 1009

P.O. 429

**BILOXI, MS 39530** 

CONTRACTOR: DCD CONSTRUCTION, INC.

6512 ROSE FARM ROAD OCEAN SPRINGS, MS 39564

ENGINEER: BROWN, MITCHELL & ALEXANDER, INC. 796 HOWARD AVENUE, 2ND FLOOR

**BILOXI, MS 39530** 

**CONTRACT FOR ENTIRE PROJECT** 

ENGINEER'S PROJECT#

17-3555D-03

You are directed to make the following changes in the Contract Documents:

ITEM NO.	ITEM DESCRIPTION	QUANTITY	UNIT	Ų	NIT COST	EXTENSION			
ADD THE FOLLOWING ITEMS TO THE CONTRACT:									
CO1-1	SHADE STRUCTURES	2	EA	\$	43,429.65	\$86,859.30			
CO1-2	TIE INTO EXISTING RCP. (TASK D)	1	EA	\$	1,050.00	\$1,050,00			
CO1-3	12" HDPE PIPE	135	LF	\$	19.30	\$2,605.50			
CO1-4	PVC DRAIN INLETS	2	EA	\$	2,480.00	. \$4,960.00			
CO1-5	SAWCUTTING CAP ON EXISTING WALL	88	LF	\$	14.40	\$1,267.20			
CO1-6	ELASTOMERIC COATING	2,969	SF	\$	5.40	\$16,032.60			
CO1-7	PICNIC TABLES	2	EA	\$	2,233.30	<b>\$4,466.60</b>			
CO1-8	METAL BENCHES	12	EΑ	\$	2,065.31	\$24,783.72			
CO1-9	TRASH RECEPTACLES	8	EA	\$	1,285.31	\$10,282,48			
	•								

2